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1.Grammar
2.Exercise

3.Today’s word



Negation (£&5)

Using ‘@’ [an] Using ‘&’ [mot]

It is used
It is used

1. Indicate that a certain action
does not occur 1. Indicate that the ability for the

subject's will is insufficient

2. A certain state does not
2. Or it cannot happen due to other

3. Simply denies an objective fact circumstances
by the will of the subject to perform
the action




Negation (£&5)

Using ‘@ [an]

Using ‘X’ [mot]

| didn’t meet him

Lt= 38 ¢ Britr.

[naneun geuleul an man-natda]
| didn’t eat it

L= 34 FHAULCH
[naneun geugeos-eul an neog-eot da]

| couldn’t meet him

L= 38 % BHtC
[naneun geu-leul mot man-natda]

| couldn’t eat it.

L= 38 & HRULC

[naneun geugeos-eul mot meog-eot da]




01 Negation (Z2&£) - ‘oF

» There are mainly two ways to make “@t” [an] negative
sentence

1. Adding € [an] before a verb

2. Using the negative verb ending, -X| 8L} [ ji an-
ta]

» Do not go — verb : 71} ot 9peedh-level ending : -0t2,01R (Polite/Declarative)
SO+ 7l = ¢ 7l R OI_I- DI‘A=|7

- 7 . *end with vowel " + 0 — {
* Exercise (speech-level ending is Intimate/Interrogative : o{/o})

Q ? 1 A\ /4
1. do not eat (HC}) — 2F Hi54?  *end with vowel *T" + 0{ —

7 Ao not drink (0 AICH



01 Negation (£&5)

Verb

2T [meog—da] = to eat

O
Verb : dictionary

@
Negative 2

Negative 1

o} e e} %7 ge}
[meog—dal [an—meog—dal [meog—iji

—an—ta]




01 Negation (£&5)

Verb

7ttt ga—dal = to go

l

Verb : dictionary
form

7Tt}
[ga—dal

o
Negative 1

2 7t
[an—ga—da]

o
Negative 2

7HA] ¢t
[ga—ii
—an—ta]




01 Negation (£ &5

Verb

2ltHib—dal] = to wear

|

Verb : dictionary Negative 1 Negative 2
f
ik ot gk, 7 et
[ib—da] [an—ib—da] [ib—ii

—an—ta]
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Negation (£&5)

Adjective

At} [keu—-da] = big

[
Verb : dictionary

[keu—dal]

l

®
Negative 1

ofF A},
[an—keu—da]

®
Negative 2

37| &t
[keu—ii
—an—ta]




01 Negation (2%

Adjective

of| M o} [ye—ppeu—da.

= pretty, beautiful

Verb : dictionary
form

of| 1 T}
[ye—ppeu
—dal

Negative 1
OF of| T}
[an—-ye—
ppeu—da]

l

@
Negative 2

o m 7] gk}

[ye—ppeu—iji
—an—ta]




01 Negation (Z&5)

Adjective

H| ok [bi-ssa—da] = expensive
l

Verb : dictionary Negative 1 Negative 2
form
H]&fh ot ul s}, H %7 gkt
[bi—ssa—da] [an—bi—ssa—dal [bi—ssa—ji

—an—ta]




01 Negation (&5 - ‘&

 There are mainly two ways to make “X” [mot] negative
sentence

1. Adding & [mot] before a verb

2. Using the negative verb ending, -X| & 38IC} [ ji mot-hada]



01

Negation (Z&5) - ‘&

Since the negative X refers to one’s ability or volition, it cannot be used with
the adjectives which describe states or quantity

-2 =0}2high (x) , & &0t2narrow (x), & EtolRa lot (x), & 0{Ra few (x)
cannot make — verb: BFHELC} + speech-level ending(Polite/Declarative) :
OlR2,012 - 2 + HE0{2 =R TIE0{R

Exercise (speech-level ending (Polite/Declarative) : -0l2,01 )

1. cannot sell (ZC}) — = O  *end with bright vowel * |, " — 0tQ
2. cannot sleep (AtCH) — &2 AL
3. cannot run (2 2ICH) — & EE42  *end with vowel “I” + 0f — 1



01

Negation (£&5)

HC} [meok-da] = eating

X HC

[mot-meog-da]

HX| RSICh

[meogji-mot-hada]




01

Negation (£&5)

2t

[boda]

HC} [boda] = see

2 Hr}

[mot boda]

HX| ZstrCt

[boji mot hada]



Negation (£&5)

Question 1.
Yeri had so many classes today that she wanted to eat (HC}), but she couldn’t

CHan] HRACH Z[mot] HALC}

Question 2.

Taeyong was able to go (7IC}) to school today, but he was too sleepy to go to
school so he was absent.

Otran] ZtCh Z[mot] ZLCh

Question 3.

Namjun traveled to Poland by bus, but the person next to him was so loud that
he couldn’t sleep (XIC})

KEX| et kLt [jaji-an-ta] AFR| 2L [jaji-mot-haet da]




01

As seen above, the long form negation is created by adding *|[ji] to the stem, which is followed by a negative

Negation (£&5)

auxiliary %Cltanta] or 2 StCHmot hada).

Here are examples:

verb stem + X| L}

adjective stem + X| BiC}

verb + A| £ SjCt

[baeuji anayo]

[nopji anayo]

[ikji mot haeyo]

H2X| gotg do not see =X ¢otq is not narrow OIS X| 2 &g | cannot make
[boji anayo] [jopji anayo] [mandeulji mot

haeyo]
74X otg do not go HIMEK| totQ is not expensive ox 2 §e cannot sell
[gaji anayo] [bissaji anayo] [palji mot

haeyo]
X Lote do not eat x| ototg is not small X 2 8 cannot sleep
[meokji anayo] [iakji anayo] [jaji mot haeyo)
OFA| K] 2olg do not drink x| ototg is not big x| 2 e cannot run
[masiji anayo] [keuji anayo] [ttwiji mot

haeyo]
Hl2X| 2Uotg do not learn =X %otg is not high oAx 2 s cannot read
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Negation (£ &&)-' &CF

For imperative and propositive sentences, the negative auxiliary verb 2 LC} is used

instead

When you use ZLC} into imperative or propositive, you have to notice that the stem &
changes to O} and . This is due to the fact that 2 C} is a 2 irreqular verb
To conjugate 2 irreqular verbs with endings starting with L, H,or A, 2 is dropped from

the verb stem.

Consequently, the stem 2 loses 2, as it is conjugated with the deferential imperative
and propostive ending —&IA|2, and & A|C} (since the ending begins with A)

ok — B+ &

A

AlCH —)QlBF+ HA

A

@
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Negation (£&5)

Lt

Speech level Declarative Interrogative Imperative
(statement) {question) command/ request)

Deferential -g&Lict -guUnt -(S)dAr2
[seum-ni-dal/ [seum-nikkal/ [(eu)sip-ssi-ol
uL|C} u L7}
Polite -2 [eoyol/ -Hg/ -0tg -Ha/ o8
o2 [ayo]
Intimate -0 [eo)/ -0{/-0} -04/-0F
-0t [a]
Plain —(L)Ch -(2)4 [nil/ ~0{2t [eoral/
[(neu)n-da] -Lf [nya] =024 [arra]

Propositive
(suggestion)

~(@)Alct

[(eu)sip ssi-da]

-0{2/-0t2
~04/-0¢

-xl
[jal]

« Imperative
1, ¢fe 2 71X| O Al 2, Don't go forward.
2. Ot X| ZOLL. Don't get sick.
3. & EXI £X| Of. Don't leave me alone.
4, Mg | 54X Yot} Don't stay away from books.
« Propositive
1. 21 X| ZrAIC} Let's not push.
2, 22| PHLFX| 2OtR., Let's not meet.
3. 22| O| ZEOYME AFESHA| &AL Let's not use this program.
4, 40| 7}X| YA, Let’s not go together.

g =0HE)



01 Negation (£&'2)

1.20c}

o2 3t24Ch Lk I was going to talk but I stopped.
42 C} 2k}, I was eating but I stop.
2.8fole

mo mo

=

L2 FHE AE5HR] Z0or2. Don't use the same topic.

-5F[0q CHL|X| 2 0otL2. Don't run.

3.2 AlCtH

-KHAZ2 FE=AlZ[ K| BFAICE Let's not destroy nature.
-=2 0FAIX| BFA|C}H Let's not drink.
4.0 Al /OH £

-THC|Erofl E£0{2 K| OF&A[2. Don't come into the grass.

-S42 BHX|X| oFAAl2. Don't touch the statue.
5.2rot2t/ otk

- mZ2|x| Zrol2t Don't hit your younger brother.
-2 X| oOt2}. Don't cry.

-5kt 2Ch st x| Zrofzt.

Don't do it over and over again.
-5t x| ZEtD 5HX| ZHotR.

Don't tell me not to do it.

-5t X| HEte dSE =2k sl

You only choose what you're told not to do.



Exercise = ¢

A: W20] THRIZ LHF AL 2 2191042
Did you read the book that the professor gave you for

assignment?

B: (OtL| & ¢ii0q ). 24 5t F ¢tofl ¢d= 74 E7+s 8. *read o4ct
No, I couldn’t read it. It's impossible to read it in one day.

A: ILEe 2o MZtoz O3 oz M2 M sl|F Al

ane edolotgE (£ ¢He [ Eot ).

Why did the professor recommend such a difficult book?

It seems that professor can't read the student's mind.

B: 2| 2 oA ( 8t & X} ). *do strt

Let's just not do our homework. runderstand Ol 5CH
A: 212N, o1&t I| 2101 (Olal B & X/ 20t ). %] think ~74 Zto}
Yeah. I don't think I'll understand even if I read it anyway.

B: E= S ( ter2eEi ). *get &tCh

I don't want to get a good grade.



Today’s word = ©

B Vocabulary
7t} [geonneoda] v. cross/ go over
o}l 4] [abeoji] n. father
< [naeil] n. tomorrow
=7 [neutge] adv. lately
%=A]1¥ [doseogwan] n. library
vlA| T} [masida] v. drink
7ht} [mannada) v. meet

Z5}t} [malhada] v. speak

HlE T} [bappeuda] adj. to be busy

| 2]t} [beorida] v. throw away

H <l [byeongwon] n. hospital

Xt} [bonaeda] v. send

B2t} [bureuda] v. call out/ sing

H| 4T} [bissada] adj. to be expensive
H12Z]t} [billida] v. borrow

ALt} [sada] v. buy

Ft} [swida] v. rest

21+ [sikdang] n. cafeteria
A1t} [sinda] v. wear (shoes)
2t} [sseuda] v. use/ write
2~ 7] [sseuregi] n. garbage
At} [ssitda] v. wash

Zr} [palda] v. sell

Elt} [tada] v. ride
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